














Instead of reducing manually the field rate, I set up the 
solver to modify it automatically while honouring all 
operational constraints.



I have to move the points in the first 3 years inside the compressor map.

One solution is to choke at the inlet of the compressor.

In that way the compresor rp increases, i.e. the point goes up in the compression map.

I want to choke as less as possible, just to get the points inside the operation map.

In the last two years outlet temperature is th
limiting condition. I could produce more gas
but then the cooler efficiency has to be 
improved.

-3 years with plateau, no issues 
-year 4 activate cooling to avoid excesive outlet temperature, compressor operating at maximum power, not possible to deliver plateau rate
-Year 5 , compressor operating at maximum power, not possible to deliver plateau rate
-years 6 and 7, reduce further the rate to avoid excessive outlet temperature, compressor operating at power less than maximum



Modification of the excel sheet:

The deltap of the inlet choke is changed manually for the first three years until all three points are inside the operational compressor 
map:

All points 
overlapping one on 
top of the other.


